
 
TCPC Worship Helps​ ​  ​ ​ ​ ​                 ​          June 1, 2025 

The title of today’s sermon is _____________________________________ 

 

Word Bank 
belief​ ​ ​ blindness​ ​ ​ birth​ ​ ​ enough​ ​ deeds​​  
​ ​ ​ ​ ​  
rescue​ ​ spiritual​ ​ ​ improvement​ Spirit​ ​ ​ wrong​  
 
respond​ ​  amaze​ ​ ​ do​ ​ ​ is​ ​ ​ renewal 
 
​ ​  ​ ​   

Our ________________ must be in a Savior 

There is a kind of believer that follows Jesus for what he can ______, but not for who He ______, 

and that’s not _________________. 

No, it it through God’s _________________ that we discover who He is 

We don’t need a miracle worker to ______________ us, or a helper to aid us, we need a savior to 

______________________ us. 

 

Our ________________________ must be removed by the Son 

In the gospel of John, darkness and night often symbolize ___________________ darkness. 

entering the kingdom of God is not a matter of ___________________, but __________________. 

Our _________________ must come from the Spirit 

Just like being born is not something you can do, but something done to you, being born again 

is something God does through His ________________. 

If God makes us born again through His Spirit, then we don't have to do anything, right?   

Wrong - we are enabled and commanded to ________________ to the Spirit and live out our new 

birth. 

Jesus is the only way to enter the kingdom of heaven. 
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